CHAPTER 7 CURVE SKETCHING AND INEQUALITIES

Exercise 7A

S A AT A T

Sketch the graph of each of the following functions.

1 V:(x—S)(x—l) 2 11:(2x—1)(x+4)
T =2 ’ (x—D(x—2)
3 )= (x+d(x—95) 4= (x+D(2x+5)
(x —2)(x — 3) ) (x+2)(x—9)
2x* 4 3%—5 3x? +4x+4
5 y="———— - 6 y="——
x2—x-2 x2—2x-3
7 Find the range of values of
452 —x -3 X +x—1
) = ——— by y=———
i 2x2 —x -3 ) ) X4+x-3
8 Find the equations of the three asymptotes of the curve
y= M (OCR)
21x2 —x—10
9 Find the equations of the asymptotes of the curve
,:x"—varl (OCR)
x+1
10 One of the two asymptotes of the curve
v_ﬁ+m+1
x+2

11

12

where 4 1s a constant, is y = x + 3.

i) State the equation of the other asymptote.
ii) Find the value of 4. (OCR)

The curve C has equation
8 27

x—2 x4+2
i) Write down the equations of the asymptotes of C.

~

y=10+

4

ii) Find 32,
dx?
iii) Show that C has one point of inflexion, and find the coordinates of this point. (OCR)

x* -5

42x—11"

a) Determine the equations of the three asymptotes to the curve, giving each answer in an
exact form.

b) Prove algebraically that there are no values of x for which 4 < y < 2.

A curve has equation y =

TS

Hence, or otherwise, calculate the coordinates of the turning points on the curve. (AEB 98)
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Exercise 7A

7a)y<Lyzf byzly<sy 8x=

M) x=2x=-2y=10 i) —0
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